NEW ITEMS

% Bu dékiimanda

Gm Grin aciklamalari, parca numaralari ve veriler sadece bilg

part numbers and data included in this document are used for information purposes only

iptions,

All product de:

TeSNOROT

STEERING & SUSPENSION PARTS




/ a

1\) STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: CH-1278 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 1.766 Length: 243  Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION OEM NO

SILVERADO 1500 T1XX 2019- Front Right 84437972
Upper

TEKNOROT REF: CH-1278 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 1.766 Length: 243  Bolt Metric: M12X1,75

MODEL NO BODY YEAR  DIRECTION OEM NO
SIERRA 1500 2020- Front Right 84437972
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

N TNOROT 2024




/ a

1\) STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: CH-1279 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 1.766 Length: 243  Bolt Metric: M12X1,75

MODEL NO BODY YEAR DIRECTION OEM NO

SILVERADO 1500 T1XX 2019- Front Left 84437973
Upper

TEKNOROT REF: CH-1279 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 1.766 Length: 243  Bolt Metric: M12X1,75

MODEL NO BODY YEAR  DIRECTION OEM NO
SIERRA 1500 2020- Front Left 84437973
Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

N TNOROT 2024




(& T&K(NOROT 24

\;’“J STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-1338 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8.324 Length: 310  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION OEM NO
SILVERADO 1500 TIXX 2019- Front Right 84973285
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
i ross | ST ooy | SIS ST T
TEKNOROT REF: CH-1338 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8.324 Length: 310 Bolt Metric: M16X2

MODEL NO BODY YEAR  DIRECTION OEM NO
SIERRA 1500 2020- Front Right 84973285
Lower
COMPONENTS NUMBER NAME  DIRECTION OEM NO
i crans | SISO | oy | STST e srte

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


84973287*	84973286*	84973285*	
84973288*	84973287*	84973286*

84973287*	84973286*	84973285*	
84973288*	84973287*	84973286*


(& T&K(NOROT 24

\;’“J STEERING 6 SUSPENSION PARTS

TEKNOROT REF: CH-1339 ApAPTABLE CHEVROLET

Control Arm and Ball Joint

Weight: 8.324 Length: 310  Bolt Metric: M16X2

MODEL NO BODY YEAR DIRECTION OEM NO
SILVERADO 1500 TIXX 2019- Front Left 84973288
Lower
COMPONENTS NUMBER NAME DIRECTION OEM NO
é Crroon | SUPOTSON | o oey | ST SarazeE stz
TEKNOROT REF: CH-1339 ADAPTABLE GMC

Control Arm and Ball Joint

Weight: 8.324 Length: 310 Bolt Metric: M16X2

MODEL NO BODY YEAR  DIRECTION OEM NO
SIERRA 1500 2020- Front Left 84973288
Lower
COMPONENTS NUMBER NAME  DIRECTION OEM NO
i crans | SN | ooy | SSTSET T sares

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


84973287*	84973286*	84973285*	
84973288*	84973287*	84973286*

84973287*	84973286*	84973285*	
84973288*	84973287*	84973286*


e —
{» T&XNOROT

TEKNOROT REF: CI-686
Stabilizer Bar Link

3 &

Weight: 312 Length: 240 Bolt Metric: M10X1,25

MODEL NO BODY YEAR

C-ZERO 2010-2020

TEKNOROT REF: CI-687
Stabilizer Bar Link

2 —”

Weight: 312 Length: 240  Bolt Metric: M10X1,25

MODEL NO BODY YEAR

C-ZERO 2010-2020

2024

ApArPTABLE CITROEN

DIRECTION

Front Right

OEM NO

5087.81*

ApAPTABLE CITROEN

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

5087.80*



ry
{5 T=NOROT

TEKNOROT REF: CR-568

Lateral Arm

Weight: 1.080 Length: 368,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR

300 2nd Gen 2011-2023

TEKNOROT REF: CR-568

Lateral Arm

Weight: 1.080 Length: 368,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR

CHALLENGER 3rd Gen 2008-

o2

ApAPTABLE CHRYSLER

DIRECTION

Rear Lower
Forward

OEM NO

CMS251016, 4782836AA,
4782836AB, 5180480AA

ADAPTABLE DODGE

DIRECTION

Rear Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

CMS251016, 4782836AA,
4782836AB, 5180480AA



TEKNOROT REF: CR-568

Lateral Arm

Weight: 1.080 Length: 368,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR

CHARGER 7th Gen 2011-

TEKNOROT REF: CR-568

Lateral Arm

Weight: 1.080 Length: 368,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR

MAGNUM 2nd Gen 2004-2009

DIRECTION

Rear Lower
Forward

DIRECTION

Rear Lower
Forward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLE DODGE

OEM NO

CMS251016, 4782836AA,
4782836AB, 5180480AA

ADAPTABLE DODGE

OEM NO

CMS251016, 4782836AA,
4782836AB, 5180480AA



ry
{5 T=NOROT

TEKNOROT REF: DS-111
Tie Rod End

=

— 1

ADAPTABLE DS

Weight: 838 Length: 210 Bolt Metric: M12X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR

4 2021-

TEKNOROT REF: DS-112
Tie Rod End

B
Weight: 838 Length: 210  Bolt Metric: M12X1,5

MODEL NO BODY YEAR

4 2021-

DIRECTION

Front Right

OEM NO

1675958280

ADAPTABLE DS

DIRECTION

Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

1675958380




{$ T=NOoROT

TEKNOROT REF: FO-108

Control Arm and Ball Joint

Weight: 4.224 Length: 441  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

EXPLORER U625 2020-

TEKNOROT REF: FO-109

Control Arm and Ball Joint

Weight: 4.224 Length: 441  Bolt Metric: M14X1,5

MODEL NO BODY YEAR

EXPLORER U625 2020-

ADAPTABLE FORD

DIRECTION

Front Right
Lower

OEM NO

LB5Z3082A

ADAPTABLE FORD

DIRECTION

Front Left
Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEM NO

LB5Z3083A




{$ T=NOoROT

TEKNOROT REF: GZ-106 ADAPTABLE GAZ
Stabilizer Bar Link

H

Weight: 312 Length: 151  Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
GAZELLE 4th Gen 2013- Front 3221362906058
TEKNOROT REF: H-151 ADAPTABLE HONDA
Tie Rod End Only Year 2021-2022 e-
HEV / 2013-2020 Hybrid

L § YEAR ONLY

d 2021-2022

Weight: 644 Length: 181  Bolt Metric: M12X1,25 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
RW1-
CR-V RWS8/RTS- 2017-2022 Front Right 535640TMBHO1

RT6/RY1-RY2

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




ry
{5 T=NOROT

TEKNOROT REF: H-152 ApAPTABLE HONDA

Tie Rod End Only Year 2021-2022 e-
HEV / 2013-2020 Hybrid

i YEAR ONLY

h 2021-2022

Weight: 644 Length: 181  Bolt Metric: M12X1,25 Housing Metric: M18X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
RW1-
CR-V RWS8/RT5- 2017-2022 Front Left 53560TMBHO1

RT6/RY1-RY2

TEKNOROT REF: KI-713 ADAPTABLE KA
Tie Rod

1 -———

Weight: 522 Length: 173  Bolt Metric: M16X1,5 Housing Metric: M18X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

BORREGO HM 2008-2018 Front Right MS90721, 577312J000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




e —
{» T&XNOROT

TEKNOROT REF: KI-723 ADAPTABLE KA
Tie Rod

=

Weight: 522 Length: 173  Bolt Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

BORREGO HM 2008-2018 Front Left MS90720, 577322J000
TEKNOROT REF: M-1388 ADAPTABLE MIERCEDES
Control Arm and Ball Joint 4X2

Weight: 2.280 Length: 379,7  Bolt Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
Front Right
S-CLASS w223 2020- Lower 2233303603, A2233303603
Rearward

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF: M-1389
Control Arm and Ball Joint 4X2

4
F
£

’gﬁ#j"ﬂ%g@

Weight: 2.280 Length: 379,7 Bolt Metric: M16X1,5

MODEL NO BODY YEAR DIRECTION
Front Left
S-CLASS w223 2020- Lower
Rearward

TEKNOROT REF: T-168

Control Arm and Ball Joint

e

Weight: 3.516 Length: 401,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION
YARIS CROSS XP210 2020- Front Right
COMPONENTS NUMBER NAME — DIRECTION

jr v T-1034K g;’;’jigft’%t Front Lower

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

2024

ApAPTABLE MIERCEDES

OEM NO

2233303503, A2233303503

ADAPTABLE TOYQOTA

OEM NO

48068K0020

OEM NO

4333009A50



4333009A50


{5 TENOROT 024

TEKNOROT REF: T-168S apaPTABLE TOYOTA

Control Arm

Weight: 2.762 Length: 333

MODEL NO BODY YEAR DIRECTION OEM NO
YARIS CROSS XP210 2020- Front Right 48068K0020
TEKNOROT REF: T-169 ADAPTABLE TOYQOTA

Control Arm and Ball Joint

o

Weight: 3.516 Length: 401,5 Bolt Metric: M14X1,5

MODEL NO BODY YEAR  DIRECTION OEM NO
YARIS CROSS XP210 2020- Front Left 48069K0020
COMPONENTS NUMBER NAME  DIRECTION OEM NO

‘i‘ v T-1034K g;f’jiﬁ’i’;’t Front Lower 4333009A50

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm


4333009A50


/ a

1\) STEERING 6§ SUSPENSION PARTS

TEKNOROT REF: T-169S apaPTABLE TOYOTA

Control Arm

Weight: 2.762 Length: 333

MODEL NO BODY YEAR DIRECTION OEM NO
YARIS CROSS XP210 2020- Front Left 48069K0020
TEKNOROT REF: V-941 ApAPTABLE \VOLKSWAGEN
Tie Rod End > 13.02.2023

Weight: 792 Length: 202  Bolt Metric: M10X1,5 Housing Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

AMAROK NF 2023- Front Right 2HJ422811

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

N TNOROT 2024




Za TXNOROT

‘\) STEERING 6 SUSPENSION PARTS

TEKNOROT REF: V-942 ApAPTABLE \VOLKSWAGEN
Tie Rod End > 13.02.2023

244

Weight: 7.921 Length: 202  Bolt Metric: M10X1,5

MODEL NO BODY YEAR DIRECTION OEM NO
AMAROK NF 2023- Front Left 2HJ422812
TEKNOROT REF: V-996 ADAPTABLE VVOLKSWAGEN
Stabilizer Bar Link > 12.02.2023

3 A

Weight: 624 Length: 296  Bolt Metric: M14X1,5

MODEL NO BODY YEAR DIRECTION OEM NO

AMAROK NF 2023- Front 2HJ411316A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm






